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OE
@@@ — @x@x@x@x@ 1

20

BI=5x4x3x2x1=120

nN=nx(n-D)x(N-2)x---x2x1

5 @@ 3

0

I I
P =5><4><3=EZL
2! (65-3)!
n r
n!
P=nx(n-Dx(n-2)x---x(n—-r+1) =
(n—=r)!
MS-Excel nl= fact(n)
6 1
7 3
10 4



(5% 4x 3)+ 6=10

()
O,
O,
o)
®
O,

C _ s _ 5 3
53
31 213 (5-3)13!
n r
|
nCr = nPr/r': m
(n=r)ir!
MS-Excel .C, =combin(n,r)
10 4
10
C. .C
1.3
3
3 2



1,2,3,4,56 - U={123456
2
u :{(111)! (:LZ)’ (:L3)’ T (6’5)1 (6’6)}

A
A={1375 A={2,4,6
3 B
B={123 B ={4,5,6}
3
AnB={13
3
AUB={1,2, 35
4 6 C={4,6}
ANC=¢
n A r Lugr/n: p
A
U n(V)
A n(A) A
p° P =n(A)/nU)

0<p<1



P=P,xP;

2.3

1000 2000

E(X) = % x 1000 + % x (~2000) = —500
X : 1000, -700, -200

100 0.7 140 0.2
0.1

E(X) =0.7x140+ 0.2x 50+ 0.1x 0 =108 > 100

X X P E(X)
E(X) = P+ %+ 4+ P, = 2, PX
i=1

4

50



3.2

20
15
10

20%

17%

15%







o\ @ [ ] ° °
L °
r=-1 -1<r<0 r~0 0<r<1 r=1

(cm) 169 175 170 179 176 174 173 181 179 178
(kg) 71 68 67 72 69 80 75 65 74 71
(cm) 170 180 177 175 172 166 168 173 169 170
(kg) 62 75 70 70 62 58 60 58 59 73

9 r

85 r

80 | .

275 . *
95,70 | o

65 - * .

60, *6° *,

55 r

50

165 170 175 180 185
(cm)
= correl( 1, 2)
=0.513047




4.1

4.2

20

74, 68, 70, 69, 54, 63, 81, 72, 78, 65, 57, 65, 74, 67, 75, 54, 84, 51, 65, 84

(%)

(%0)

50 < x <= 60 4 20 4 20
60 < x <= 70 8 40 12 60
70< x <= 80 5 25 17 85
80 < x <= 90 3 15 20 100
20 100
10
60 < x <= 70 (60+70)/2=65

(histogram)

o B N W M O O N © ©
T T T T T T T T 1

60

70

n

90

175-185




Excel

50

(cm)

184.9, 170.6, 164.7, 165.3, 165.1, 170.5, 171.2, 159.8, 167.2, 170.2,
165.9, 170.3, 171.9, 183.7, 1585, 169.8, 1815, 172.2, 171.7, 164.5,
166.0, 1711, 178.5, 173.6, 180.4, 165.1, 169.4, 172.4, 174.2, 164.6,
176.9, 180.6, 170.4, 178.7, 166.2, 172.5, 172.6, 166.2, 170.2, 170.2,
165.0, 175.3, 165.6, 174.8, 169.7, 169.3, 169.6, 174.0, 180.5, 172.2

Excel
%

<=155 0 .00%
<=160 2 4.00%
<=165 4 12.00%
<=170 14 40.00%
<=175 20 80.00%
<=180 4 88.00%
<=185 6  100.00%

0  100.00%

25

20

15 -

10 -

/—‘

7

/

| A

=

<=155 <=160 <=165 <=170 <=175 <=180 <=185

7 100%
7 90%
1 80%
7 70%
1 60%
7 50%
1 40%
7 30%
7 20%
1 10%

0%




5.1
Xpy Xy ooy X
165, 168, 170, 170, 172, 173, 176, 177, 180

average, mean

1
x:ﬁ(x1+x2+---+xn) —»

=average( )
median

v

2,3,3,56,9, 13
2,3,3,56,9 11,13
= median( )

mode

= mode( )

5.2
range
R= =max( )-min( )
variance

&=~ [0=0) 4 06 =07 4 (%, %07]

MO W
n= n=

=varp( )

10



= var( )
standard deviation

S=\/— U=/

=stdevp( ) =stdev( )

Excel

(cm) 171, 181, 172, 166, 172, 175, 168, 174, 171, 170

172 1715 15
152 3.898718
16.88889 4.109609

11



(normal distribution)

6.1

y=f(X)
X
=S/S; =S
p=P(x, <X <X)
» X X, < X<X,
P(a< X <b)=1
a Xa Xa b ;
6.2 y7, loa N(u, %)
N(x, o)
_(=p)?
(gt o 2 f (0) = 03989
N2ro

f t
u3c p-26 po n wro  p+2s pt3c

12



6.3 (standard normal distribution) 0 1 N(0,1)

f(x) =% 2 f (0) = 0.3989- --

N

Excel p=normsdist(x)
X = normsinv(p)

xy

P(X <2)=

P(X >2)=

P(X >1) =
P(X<-1,X>1)=
P(-1< X <2) =

13



6.4

X ~N(u, o)
X'=X+d~N(u+d,c?)
X' =cX ~ N(cu, c’c?)

X'=cX +d~N(cu+d,c’c?)

x' =24 _N@©,1)
O

X ~ N(170,100)
X' = X +10~ N(180, 100)
X' =2X ~ N(340, 400)

N X_170~N(0,1)
10
2.
x1~N(ﬂ170-12) x2~N(ﬂ210-22)

X=X +X,~ N(,U1+:U2’O-12+522)

X, X, X, ~N(@0,9)
X
X = X, + X, ~ N(10, 25)
X =2X, + X, ~ N(27,52)
X =X, - X, ~N(3,25)

14

X, ~ N(7,16)



X ~ N(170, 100)
X =170
X =180
X =160

25.5 3.2
P(X < 20) =
P(X >30) =

10

w

20



2

Vo y2/ (o2

odf Plu—oc<X<u+0)=0.683 a = 0.317 (32%)
Plu—-20 < X<u+20)=0.954 o =0.046 (5%)
P(u—-3c<X<u+30)=0.997 o =0.003(0.3%)

02T

al2 a2

+ 20 5%
170cm 10cm
P(160< X <180) =
P(150< X <190) =
P(X >190) =
X S X
=50+10x %
60 16% 70 2.5%
1000 60 15
A, B,C 75 90 45
A
B
C
B
C
Xy Kooy X, H o’

16



X =X+ X, 44 X,) ~ N(u, 02/n)
n n—o0

)(i 100 10
)T:é(xl-i- X, 4+ Xg)
- 1
X=—=(X;+X,+:4+X)

17



81?2
X; ~N(G,1) ZZ=ZXi2~Z§ n Zz
i=1
02 n=3
o 1 : : g
1234 y
p = chidist(x, n)
P x = chiinv(p, n)
x 7
5 y° 10 chidist(10, 5) = 0.075235
10 0.05 7’ chiinv(0.05,10) =18.30703
82F
X~ A X~ X,
F= Zl/nl~F n,n F

T T
lo 1 2 3 4 5

(24),(48),(8,16),(84) F

18



p= fdist(x, n,n,)
x= finv(p, n, n,)

p
X F>
8,4 F 10 fdist(10, 8, 4) = 0.020592
(10, 5) 0.05 F finv(0.05,10,5) = 4.73505
8.3t
X ~N(0,1) X~
P ~t n ot t? ~F,
2°/n
A
2 2
N—o  N(O,1)
p/2=tdist(x,n,1)
p =tdist(x, n, 2)
e & x=tinv(p,n)
10 t 2 pl2  tdist(2,10,1) = 0.036694
0t 2 p tdist(2,10, 2) = 0.073388
10 0.05 t tinv(0.05, 10) = 2.228139
12

19



9.2
100
70%
5% 20
70%
X 2
100
2 2
2 (70-507 (30-50° , 400 p
50 50 50
p = chidist(16,1) = 0.0000633 < 0.05
20
2 2
o 14-107 (6-107 ) 16,
10 10 10

p = chidist(3.2,1) = 0.073638 > 0.05

20






9.4

22

Wilcoxon

— Welch

Wilcoxon

Wilcoxon



6.1
X
Xy Xo, o0y X 1 o
P, P,y Py
B0 =3P =
i=1
V(X)=E(X=)*) =2 pi(x —4)* =2 pxX —p*
i=1 —
6.2
y=f(x)
%o
P(XaSXSXb):S:J'X  (X)dx
p a
. P(asXsb):J'bf(X)dle
a Xa Xa , M .

23



X, E(X)=u, V(X)=0?
X'=X+d

E(X)=pu+d

V(X =02
X'=cX

E(X")=cu

V(X")=c%c?
X'=cX+d

E(X")=cu+d

V(X")=c%c?

E(X)=> (cx +d)p =c) xp +dY p
i=1 i=1 i=1
=CcE(X)+d=cu+d

V(X)=Y (e +d-cu-d)’p

=Y (x - )P =V (X) =’

X, X,
E(Xl):ﬂl’ E(Xz):ﬂw
V(X)=01,V(X,) =0,
X =X, +X,
E(X) =, + 1,
V(X)=0/+07

X =¢X, +C,X,

E(cX)=cu V(cX)=¢of (i=12)

24



E(X)=cu +Cu, V(X)=cloy +C50;

o’ X, (i=12--,n)

X =1(Xl+ X, +-+X,)
n

o2
n

25



